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Que.1
(a) Explain the rules of differentiation. .y {5)
(b) Find derivative using definition of f(x)=x* +5 (5)
d
(c) Find =~ _ (5)
SN R L 1
YE(VE - = JWE+ 2 )t )
O.R
(a) Find Minimom and Maximum values of the function {7)
y=§ x? -I-% X2 -28x+75.
(b) Fmd (Any two) ' (8)

=XLH6X+S -1°gx =(x 4+ -2 ) (2*1
1.y X2—4x—5 2. y=== 3.Y= (x+x+3)(x2+3x+z )

Que.2

{a) Explain meaning of Permutation and Combination and Find value (7)
of x if xC>=28 ‘

(b ) A principal, 4 professors,4 boys and 2 girls are to he seated on a (8)
chairs In a row for a group photos . The principal is to be seated in the

middle chailr. The boys are to occupy the 4 chairs two at each end of the

row. The chair of any gir! should not be adjacent to the chair of a boy.

In how many ways the group can be seated?

G.R

{n} How many four digit numbers can be forme: from xhe digits ,5,7,9,86  (7)
and 1 ? How many of them are (1) greater than 80007 (2) divisible by 5 ?

(b) A cricket team of 11 players is to be formed from 15 players including (8)
5 bowlers and 2 wicket-keepers. In how many different ways can a team
be formed so that the team contains at least 4 bowlers and at least one

wicket-keeper? :
- : ¢ P10




Que.3

{a) Derive the equation of straight line passing through two points.
(b) Find the equation of line passing through the mtersectlon of
4x+5y+7—0 and 3x-2y-12=0 and having slope 4.

(c)Prove that the lines 3x+4y+2=0 and 12x+16y-7=0 are parallel.

(a) Derive the equation of straight line having slope m and passing

o.R

through a given point.

(b)The slope of a line 2x+ky+1=0 is 0.1 than find value of k.

{c) Prove that (-2,2),(-1,2) and (3,1) are the vertices of an
isosceles triangle.

Que.4

(2) What is mean by Linear Programming? State main

assumptions and Uses of L.P,
(b) Solve the following Assignment Problem for minimum cost.

Work Persons

| 2 3 4
A 8 26 17 11
B 13 28 14 26
C 38 19 18 15
D 19 26 24

10

{a) Write the mathematical modei of Assignment problem.
{b)Solve the followfng linear programming problem using
graphical method.

Maximize Z=2.5x+7y

.éubject to the conditions 2x+2y< 16

X=2; y£5 x=20y=0

Xty <8 ;y<10;-

(5)
(5)

(5)

(3)

(5)
(5)
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Gue.1

(a) @5ciotoll A0 Anestell. (5)
(b) F(x)=x2 +5 of callvlloll <l [Aseiet ANl ' " {5)
© Z Aad. (5)

YR/~ 2 )E+ 2 )+ )

Al

(a) y=; x° +~ 2 .28x+75 Q02 ofl Herin A ayrty Bud Rad, (7)
®Z Aad (2R A a ) ' (8)
1y 2y 3 e m) (s )

Que.2

(a) sHUA 2 AuA ol ud UM A *C, =28 A ol x ol Bud A M
(b) YU fel w2 s Nellue , 4 vtaus |, 4 BlsR0 va 2 Slsdlala sAol (8)

yrellal uR Atsatett 8, Rofluidal a2l vzellil Quusciell B, s olal B3
A A yrellAul 4 Bls1la et viucils] B, lsdoll vieall Se es\sata{l el
U Antettell otell, yual 32ell AQ Al asa?

uadl -

(a) 28l 2,5,7,9,8 ol 1 ol UL 58X WR wisstullell Jecll Aval vloudl atsa? (N
el (1) 9000 &l Q& (2) & b @l wsa Acl daell o B?

(b) ve2 Netslell 3 Bl 5 A e 2 @Besluz B Aui &ll 11 Reslllsll Bbe dlu (8)
olottelel . €l o€l ecll Al An ootiell wstaL ¥ Rell 4 6l 2 sl et W

[Q¥edlurell umde a?
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QI%IE-3 , .

(a) A Glgai ofl uar adl Y2uie] wxllszel RAAL.

(b) 4x+5y+7=0 v\ 3x-2y-12=0 ol Beat (lg wi ol Wt acl 2
4 a3 el Yo wdllswe Aol '

(c) WA 5AY 3x+4y+2=0 vl 12x+16y—7=0 A AMicdR B,

| UL
(z;) m alaal u«ﬂ il (Clguiell e udl zﬁuuoj Alseel Anel. |
(b) Yol 2x+ky+1=0 oll 2l0L 0.1 Al Al bk oll B AnA |
(c) wd 8% (-2,2), (-1,2) w?tr (3,4) 525l A8gwen @Akl .
Que.4

(a) Y2uL el N2 47 Y2l vidloretoll Hut tiRRL AR GUAS] wQudl
()12l P25 wnzua G3et Yt Wl A & fld An,

stel cFAl

1 2 3 4
A 8 26 17 11
B 13 28 14 26
c 38 19 18 - | 15
D 19 26 24 10

0.R.

(a) AYEAA wnzUe] ou@As ey waud,

(b) (1ol YPu vuwelell wranall G3c AW ol da Andl.
o{lAol YAl vitllol Z=2.5x+7y ot HedH Woildl.

Ix+2y< 16 ; x+y <8 ;¥ < 10;

X< 2 y<£5 x =205 y =20

{(5)
(5)

(8)

(5)
(5)
(5)

(7)
(8)

()
(8)



